Analogue BPM data analysis

Calibration & resolution
calculations




Normalized difference signal

ATF day shift 13/05/08 (calibration)

Setup - 3 analogue processors on
BPM 11 with output from processor #1
split and fed into digital board.

Data taken with single bunch beam.

Normalized difference signal from processor 2 ¥5 Position from Z¥8X magnet current
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Chisg/MNDF = 101.44 "
Calibration constant = -3.1628e+103
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Normalized difference signal

Normalized difference signal from processor 1 ¥5 Posilion from Z¥8X magnet current

Chisg/MDF = 29.89
Calibration constant = -2.2615e+103

Normalized difference signal

1 1 L
0.5 1] 0s
Position from mag current (m)

Normalized difference signal from processor 3 ¥5 Position from Zv¥8X magnet current
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Chisg/MNDF =51.87
Calibration constant = -3.1097e+003
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ATF day shift 13/05/08 (resolution)

S . Resolution = 8.995um
Regolution P1 res is 2x p2&p3.

P1 signal was split o ¥x?/ndf = 0.5077
2 _
x?*/ndf = 1.0852 (1/2 in digital board)

Size of residual {m}) «10° Size of residual {m)

Resolution

v2/ndf =
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Processor # Resolution (um)

P1 (3 BPM, 10) 41.37
P3 (3 BPM, 11) 25.37
P4 (3 BPM, 12) 24.73
P1 13.86
P2 14.25
P3 11.35
P4 13.30
P1 12.92
P2 11.35
P3 9.28

P4 20.20
P1 21.81
P2 9.00

P3 9.46
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